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6HJDOD�SXML�GDQ�V\XNXU�SHQXOLV SDQMDWNDQ�NHSDGD�NHKDGLUDW�$OODK�6:7�DWDV�

EHUNDW�GDQ�UDKPDWQ\D�VHKLQJJD�SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�7XJDV�$NKLU LQL \DQJ

EHUMXGXO ³3HUDQFDQJDQ� 3HUDQJNDW� .HDPDQDQ� 'DSXU� 3LQWDU� 'HQJDQ�

5DVSEHUU\�3L�%HUEDVLV�,QWHUQHW�2I�7KLQJV��,27�´��7XJDV�DNKLU� LQL�PHUXSDNDQ�

VDODK� VDWX� V\DUDW� PHQGDSDWNDQ� JHODU� VDUMDQD� SDGD� SURJUDP� VWXGL� 6�� 6LVWHP�

.RPSXWHU�GL�)DNXOWDV�7HNQLN�(OHNWUR�8QLYHUVLWDV�7HONRP GDQ GLVXVXQ�EHUGDVDUNDQ�

SHQHOLWLDQ�\DQJ�GLODNXNDQ�ROHK�SHQXOLV�

$NKLU� NDWD�� SHQXOLV� PHPRKRQ PDDI� DWDV� VHJDOD� NHVDODKDQ� \DQJ� WHODK�

GLODNXNDQ��NXUDQJ�GDQ� OHELKQ\D�PRKRQ�PDDI�NDUHQD�NHVHPSXUQDDQ�KDQ\D�PLOLN�

$OODK� 6:7�� � $WDV� GXNXQJDQ� GDQ� ELPELQJDQ� GDUL� VHJHQDS� SLKDN�� SHQXOLV�

PHQJXFDSNDQ�WHULPD�NDVLK�EDQ\DN��3HQXOLV�PHQ\DGDUL�EDKZD�SHQHOLWLDQ�GDQ�EXNX�

LQL�PDVLK�MDXK�GDUL�NHVHPSXUQDDQ��PDND�SHQXOLV�PHQJKDUDS�NULWLN�GDQ�VDUDQ�\DQJ�
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